P
/

thi o i .
/.M =5y 6y gy’ -9 V=U
Fl-sP4tr t4r ¥ =0

(r-r) (re1) 29
! o o} 0 -
‘ -'\9:' (CI‘{’(H{"{'C;i“ )6 '{'C'-i-e

! ol ’
2 Yy 4 ey’ 20y FLEY=0 Y=Y 2y” (o) =Y¢0)=0
v‘q-{rd.r’%-(tlrh-—!-or L5 2 0

& o610 )0 891 % 0.6107 J0.3910 )=7 i

Py = 2.6200 +jhyuy Ty & L _gaon =) IS

¥ b4 U

=2

N) = % ediCCr'

V(o) = ¢, -(:(3 o
wt : -
& e'{t( ¢, cns,siupsf.;pi} + e (—L,F?Mﬂ/"-{- C:./’f S/’)")

1 :
(o4t £ 0 srnﬁ)ﬁir (c, syt 4 Ca (A )

f

/19':.

A . (o5 VA
4 e (4 (o VA 4 CaGinvA) + e’ (““”“"V’H = )
W= Ao, e F ST L e

el 0] R % A Geaeh a4 =0

gleL L b, 2 i

V(A) =0

-
N BELWES JB R
N g @y 1y 2oy Y= O
5*Y+45’\{+145"Y—105Y+Ls"f“-—o
S Y= e
vyt = O



LA

3 wg’"_.:m’: A+ cosi o Z
3} -
FP=4r=o N
=9, &
rr-t) (riv) =d ’

'th 2 v uj‘l’n‘
e#uu\"i l\-—( b 1
Sy

L
L B3 ehl} T Q.,m’cn-zm)
L

o)f“f'() 4/:1)(""' C#-/{'e
Let’s v,::(::}t'-P(LC’

LA
24 cude

+ Ce €
sInt +03 tos 4

=i s - 2Ce

' ( }
Mr ':Cf"‘ 1

g 0o, o8 A
r i -
—C,Cl?}ﬁl 4—6’(4»6

~L
o ity e X catel €

24
3 + 4 ly e"‘} *-3’64)1 €

'\ﬂfm = il sin X

q)'
%qr’( tH %2

Y.,
Cosind - Gust !lcqed-a?f«t"e L ! e—u‘
=y te G Sh Xt -4 cof -4 et Tl
< /{-{-cos}-é).e‘“'
G+ 4G=0 & Gy 22 /
~C3 =% = .'.63:-5—_/
¥ Ca =1 ST
e, = | :.c,:_%
: Mr: __.z;_;(_ .;_-f—w'n/ll .(,..f{e‘“ll




-#
[’L‘ ’vﬂf'f"\d”"‘vu'y:/t"'e

eﬁ}% ham’cuou} eg,tuit'me./ f"!u}l"')

X
Lotls V= GEECH Gle
- -4

M/:C’”"(—Se}-—chf‘e

F -*

, e Y rgre
nt = —Ge -Ge 3

" 4 * ¥
Vru! =! C}E'*—}«(;e‘ + (e N X

ol
%“-{ﬂ’ tH 97

( e — ( ,{-e e ‘I_[.c + -4 % =k
) C- —C /'e
j) 3 3 ~2 (s 3A € -,LC‘.(.(’ ;

A
- GAta "I’C;A‘e“} = }.{.e

G+ C. =0 2.5

(a_.'_',-.
Cf:-" C— L /f
2.(}'_‘__, ;_L



